


③ E x a m p l e s o f n o n l i n e a r equathis:-

A 3×-1
+ 4 1 = 5

* 31×+4 , = z

% Equation o f l i ne i -

* T X + y =
@lo

XT t - 2 = 5

b -t o
Cx-L)9 × + 0 9 = 0

" " °

@system o f l inear equations " -

9 × + 4 % 2 = 2 9 # o
6 = 1 0

② l i n e a r equations,,
⇐ o

" → ⇒

X t ) = 2

X - J = y )
2-Eg's

2 - U n k n o w n ,
9, X , t 92×2+93×3 - - - - 9 n X n = b

9 1 = 0 9 2 = 0 a n = O

Z X , + 4 X z - 1 1 3 = 0
b # o ⇒ non-homogenous

X , +10×2+1 1×3=0 )
" £ 9 "

3 - U n k n o w -
6 = 0 ⇒ homogenous l . E9%

E x amp l e s o f l i n e a r E9%$ X t ) + z = I

}
" "€9 "

* 3 × - 1 2g - 5 X - J + z = 2
3 - U n k n o w y

* 4 × + 3 ) + F E = l o X t , - 1 3 7 = 0

X - y - 7 = 2
* X , t X z -

2""
× , =

e'°°°
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O ✓

soo
soo

5 × + 1 = 5 4 ) - 2 = 3 ✓
→ 4 × 1 - X z + 3 × 3 = 4 ( I ) - ( z ) +3C-l)

2 × 1 = 2 ( i ) - C-2) = 2 + 2 = 4 i t

= 4 - 5 = - I ✓

then x - I

y = - z ) i s so lu t i n t o g i v e n
⇒ 3 X, t X z + g Xs = 3 ( i ) + ( z ) + g ( t )sys tem

= - 4 ✓

then X i - I
° ) is a solution t o t h eX z = Z

O

↳ = - l system
5×+1 = 5 6 ) + 3 = 3 ✓

2×-3 = 2 ( o ) - 3 = - 3 0 I 4

then x - o

1 = 3 ) i s n o t a solution t o

The system



l inear sys tems i n t w o u n k n o w n s : - Elementary r e a r o p e r a t i o n s : .

9, x + by = 9 & X L = / E C ⇒ RIO
2 - Unknowns

92× - 1 by = e z @ )
2 € 9 4

Z X - 3 J - f E@ ⇒R@

@ Multiply a n Ea" Eet, l y c i c t oh i r e
solutions

③ No-solution E , ⇐ E z interchange

intersect

① o n e solution ② ' " " N

@ mating @by constant ① n add t o @" " " ""§"
"""

" " " "

distinct
un ique¥¥i€¥.
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E z - E z

-Z E , + E z → E z ) X - J
= / E I
3J = 3 E@ - 4 £ , + E z → E z (2×-1

= 2 E D

O = O

43 E z → E z ) " I = / oo-Mang soluthi

y = ,

@

@
2 × 1 = 2

F r om E z Y = l
Z X = I t 2

A E , X - I = I I X = 2
X = k C y + 2 )

unique (gz) i s asolatin O F s y s t e m l e t g - t s t i s any
need
n u m b e r

@ O O G

X - { ( t + 2 )E C

→ G + E - → EG 1×+5=4 E t
system has 00-May s o l u t n

o = - 6 N o t

possible X = k ( e t 2 )

the system has no-solution y = t



E z

£ 3

X - J t Z z o E l
E l t E z → E@

ggy @ = @ E z ' I R '

←

,

l't 2- Z E , + E z →
E,}

g - z z = 3 € 3
, ,

§
, I%) R z

2 3 123

X- J + Z = o E l
- E z t E 3 → €3

) I + 3 Z = 1 E z ) z- E a ' s

3 - o n knowµ- G z = 2 £3

% Ez → E z ) X - 5 + 7 = 0
E '

[}
5 t

/oo]
R '

homogenour
Y + 3 7 = 1 € 2

- z 2 R s s y s t em
Z = -43 £3

F r om E z → Z =-43 × ' × 2

/
p ,

Rz

E z ⇒ Y + 3 ( I g ) = L ⇒ 1 = 2 523

2×1 - X z = - I

E , I X - 2 + C-43)- O ⇒ X = § - x , t 3 × 2 = I

X-773 - 4 X , + 5 × 2 = 0

unique solution
Y = 2

E -=-1g )


